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Guess Paper – 2012
Class – XII
Subject – Chemistry                                                                                                                                                                                                                                                                 Maximum Marks: 70








 Time: 3Hrs

=====================================================================================

General Instructions:

1. All questions are compulsory.

2. Question nos.1to 8 are very short answer question and carry 1 marks each.

3. Queston no 9 to 18 are short answer questions and carry 2 marks each.

4. Question no 19 to 27 are also short answer type questions and carry 3 marks each.

5. Question no 28to 30 are long answer type and carry 5 marks each.

6.Use log table if necessary, use of calculator is not allowed.

=================================================================

1.What is the nature of crystal defect  produced ,when sodium chloride is   doped with MgCl2.

2.Define shape selective catalysis with example.

3.Classify each of following as being either a p-type or n-type semiconductor

      (i)  Ge dopped with In

      (ii)  B dopped with Si

4.The reaction A+2B-----C+D,obey the rate  of reaction.Rate =kAxBY..What should be the order of reaction.

       2N2O5(g)-------4NO2(g)+O2(g)

5. What happens when White Phosphorus is heated with conc. NaOH solution in an inert atmosphere?  


6. Write the structure of 3-Bromo-2-methylpropene.                                                




7. Write any one method of preparing benzaldehyde from Toluene.                           




8  What type of linkage hold together the monomer of D.N.A?

9.  Silver crystallizes in an FCC lattice. The edge length of its unit cell is 4.077 x 10-8 cm and its density is   

     10.5 g/cm3. Calculate the atomic mass of silver?
                                                                                                          10.  What is the difference in the structures of White phosphorous and Red phosphorous? How does it effect

      their  melting point?

11  i) Why are Artificial sweeteners preferred over Natural sweeteners ? Give examples of both.

      ii)Name a substance alongwith concenration which can be used both as an antiseptic and disinfectant.

12 The vapour pressure of dilute aqueous solution of glucose (C6H12O6) is 750 mm of mercury at 373K. Calculate

      i)  Molality                                              ii) Mole fraction of the solute                     

13 Write name reactions:                                                                                                                              

      i) Dow’s process                                   (ii) Kolbe’s synthesis



14  State Raoult’s law and show that relative lowering in  vapour pressure is equal mole fraction of solute  ?

15  Apply VSEPR theory to deduce the structures of XeF4 and XeF6.



16. What happens when D-glucose is treated with the following reagents?

             (i) HI                                               (ii) HNO3               

17.Give one example of each with structure of there monomer

             (i) Natural rubber.                           (ii) Biodegradable polymer.

                                                         Or

             (i) Define homopolymer and copolymer with example

             (ii) Name and structure of monomer of following polymer

                  Nylon -6 6 ,                             Neoprene.

18.  (i) Differenciate between physical adsorption and chemical adsorption.

      (ii) Explain adsorption theory of heterogeneous catalysis.

19. Answer the following:

        (i)  What is the purpose of adding antioxidant to food . give one example of antioxidant.                                           

        (ii)  Define the following:-   Antifertility drug, Tincture of iodine. 

        (iii) Name the artificial sweetner has the highest sweetness value.    

20 Arrange in order of property indicated :

        ( i) CH3CH2CH2CH2Br, (CH3)3 Br, (CH3)3 CHCH2 Br            (Increasing boiling point)

        (ii)  CH3F, CH3I, CH3Cl, CH3Br                                                (nucleophilic substitution)         

        (iii) What is racemisation?                           

21    (i) What are emulsions? What are their different types? Give example of each type.                                    

        (ii) What is demulsification? Name two demulsifiers.

        (iii)Action of soap is due to emulsification and micelle formation. Comment. 

22. Outline the principle of refining of metal by:

          (i) Zone refining                       (ii) Vapor phase reefing                    (ii) Electrolytic reefing

23  Explain what is observed when.

       (i) An electrolyte NaCl is added to ferric oxide sol

       (ii) when electric current is passed through colloidal sol.

       (iii) a beam of light is passed through colloidal sol.

 24.  A first order reaction is 50% complete in 36 minutes at 300K.The same is 50% complete in 9 minutes at 350 K,

          Calculate the activation energy.                            

  25.Write down the Nernst equation & calculate e.m.f. of the following cell at 298K 

        Fe(s)|Fe+2(0.001M)|| H+(1M)|H2(g)(1bar)|Pt 

                                                                Or                                                                                                        

        What are primary cells. Give reaction taking place at electrodes in   Mercury cell. Mention its use and 

         give  reason that why it use. 

 26.  Determine osmotic pressure of solution prepared by dissolving 25mg of K2SO4  in 2 Lts of water at

        250C. Assuming that it is completely dissociated. 

 27. A analysis shows that nickel oxide has formula Ni0.98 O1.00 .What fraction of nickel exit as Ni+2 and Ni+3ions. 

 28  Give the answer of following:

        (i)  Why does nitrogen show catenation properties less than phosphorus?

        (ii)  H2S is stronger acid than H2O.

            (iii)  How red Phosphorous is obtained from white phosphorous.

        (iv)  The negative value of electron enthalpy is less in fluorine than that of chlorine.

        (v)  PH3 is a weaker base than NH3 .

                                                             OR

i) Consider the following data for a reaction 

         A+B--( Product

	Experiments.
	Initial Concentration
	Rate  ( MolL‑1Sec-1)
	

	1

2

3
	  A                      
	B
	2.1X10-3
8.4X10-3

8.4X10-3
	

	
	0.10M

0.20M

0.20
	1.00

1.00

2.00
	
	


Determine order of reaction with respect to A and B overall order of reaction.

ii) What is the effect of catalyst on activation energy and why?

iii) Is there any reaction for which reaction rate does not decrease with time?

29 Account for the following:

 i) Zn, Cd and Hg are not considered as transition elements.

ii)Scandium is a transition element but Zinc is not.

iii)Silver atom has completely filled d orbital (4d10) in its ground state, yet it is transition element

iv)Transition metals have high melting and boiling points.       

v)Transition elements exhibit higher enthalpies of atomization.  

                                                                OR

a) Describe how Potassium dichromate is made from Chromite ore. Give the equations for the 

Chemical  reactions involve.

b) Write balanced ionic equations for reacting ions to represent the action of acidified Potassium 

dichromate solution on:

        (i) Potassium iodide solution                  [ii] iron (II) solution                             [iii] H2S

        c) The chromates and dichromates are interconvertible in aqueous solution depending upon pH of

           the solution. 

   30  Explain:

       (i) why PCl3 fumes in air?

       (ii) Why oxygen does not show +6 state?

       (iii) Why higher concentration of  O3 are explosive?

       (iv) Why Cl2 act as bleaching agent?

       (v) How is xenon trioxide is prepared. Draw its structure?

                                         OR

i) Why all the bonds in PCl5 are not of equal length?

        ii)   Why H2S is less acidic than H2Se ?

        iii) How is O3 estimated quantitatively?

        iv) Why fluorine has lower electron gain enthalpy than chlorine?

        v) SF6 is highly stable.
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